Fitting Instructions for Corner Protectors
for Defenders 110 and 90.

Product Codes BSC24 and BSC29

1. If installing on a Puma, remove the two outboard bolts from #2 and #4 in photo.
2. Install corner protectors with bolts supplied in indicated holes.
Tdi - 8 bolts, Puma and 90 - 4 bolts.
3. Level the corner protector and tighten bolts,
4. Once tightened, adjust the outer protector plate and tighten up the 6 nuts (each side).

Contents for Tdi and Td5:
Corner protectors

8 #10 bolts

8 #10 washers

8 #10 lock nuts

Contents for Puma and 90's:
Corner protectors

4 #10 bolts

4 #10 washers

4 #10 lock nuts

Tools HE‘QLIiI"Ed!
2 #17 wrenches
#13 wrench
#5 allen key

www.stonedxdaccessories.com



